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Lesson 11 Rounding to Hundreds, Multiple Digit Addition with Regrouping
As we have been doing and always will do, add the units first.  There may come a time when a student 

is so proficient at adding multiple digit numbers he will add from the left, but this is down the road and not the 
way the decimal system operates.  At this juncture, always add from right to left, from smaller to larger.  
Remember that you add units to units, tens to tens, and hundreds to hundreds.  Whenever you add two 
numbers always add the same values.  “To combine, you must be the same kind”.  Here are two examples 
followed by the same problems worked out with place value notation and regular notation.  If you have lined 
paper I suggest you turn it sideways to help keep the values in the proper places.  

11-1

When adding large numbers encourage the student to estimate the answer before solving it.  We have 
learned how to round and estimate to the tens place, and now we want to increase our understanding by 
rounding and estimating to the hundreds place.

When you round a number to the nearest multiple of 100, there will be a number in the hundreds place 
but only a zero in the tens and units places, which are to the right of the hundreds place.  It doesn’t matter 
what numbers are present in the other place values, only the number to the immediate right of the place value,  
in this case the tens place.  This number determines whether to stay the same or be increased by 1.  I tell the 
students this is why we call it rounding, because the tens and units are going to be a “round” zero.

Rounding and Estimating to Hundreds

Look at the number in the tens place.  Is it 0 through 4?  Or is it 5 through 9?  Since it is an 8, it is in the 
latter group, which means we round up to the next number, 400.  383 rounded to the nearest hundred is 400.

Round 547 to the nearest hundreds place.

Example 2

1) Find the multiples of one hundred nearest to 547.547500 600

2) We know that 4 goes to the lower number: 500.547500 600

Figure 1 383300 400

The first step is to find the two multiples of a hundred that are nearest to 383. The lower one is 300 
and the higher one is 400.  383 is between 300 and 400.  If the student has trouble finding these numbers 
begin by placing your finger over the 83, so all you have is a 3 in the hundreds place, which is 300.  Then 
add one more to the hundreds to find the 400.  I often write the numbers 300 and 400 above the number 383 
on both sides as in Figure 1.

Example 1
Round 383 to the nearest hundreds place.

In the two examples following, the estimates are to the right in parentheses.
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1 6 8

+ 2 3 5+

4 0 3

Example 1

11

+

1 6 8

+ 2 3 5

4 0 3

11

5 units plus 8 units equals 13, which is 1 ten and 3 units. We move the ten (or carry it) to the tens 
place as indicated by the arrow. Then 6 tens plus 3 tens plus the 1 ten from the result of adding in the units 
place equals 1 hundred, which is moved to the hundreds place as shown by the second arrow. Then adding 
all the hundreds gives us the answer of 4 hundred 0 tens 3 units or 403. The bottom picture is after 
regrouping.

(200)

(200)

(400)

place value notation

168  =  100+60+8
+ 235  =  200+30+5

403  =  400       +3

1010011
168

+ 235

403

11

Example 1
regular notation

11-3
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2 7 6

+ 1 8 9+

4 6 5

Example 2

11
(300)

(200)

(500)

276  =  200+70+6
+ 189  =  100+80+9

465  =  400+60+5

1010011
276

+ 189

465

11

place value notation
Example 2

regular notation

2 7 6

+ 1 8 9+

4 6 5

11
(300)

(200)

(500)
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Lesson Practice 11A

Round to the nearest hundreds place.

12)   First, 124 lights burned out on the big Christmas tree downtown.  Then, 176  
        more lights burned out.  How many lights need to be replaced?

Round to the nearest hundred and estimate the answer.  Then find the exact 
answer.  The first one is done for you.

4)    3  6  4
+  2  9  7    

6  6  1    

5)    6  2  8    
+  1  7  5    

1    1    

+  (          )    
  (          )    

 (          )    
+  (          )    

  (          )    

 (          )    

4 0 0
3 0 0
7 0 0

1)   190  Æ  _______ 2)   206  Æ  _______ 3)   355  Æ  _______ 

6)    3  5  9
+  2  5  4    

7)    5  3  7    
+  2  3  3    +  (          )    

  (          )    

 (          )    
+  (          )    

  (          )    

 (          )    

8)    1  6  8
+  4  5  2    

9)    1  2  3    
+     8  8    +  (          )    

  (          )    

 (          )    
+  (          )    

  (          )    

 (          )    

10)    6  7  6
+  1  4  5    

11)    2  9  9    
+  3  1  1    +  (          )    

  (          )    

 (          )    
+  (          )    

  (          )    

 (          )    

Lesson Practice 11B

Steve Demme



12)   On Monday Steve read 123 pages of his book.  On Tuesday he read 169 pages.  
        How many pages has he read in all?

Lesson Practice 11B
Round to the nearest hundreds place.

Round to the nearest hundred and estimate the answer.  Then find the exact answer.

4)    3  5  9
+  1  2  6    

5)    1  3  8    
+  2  1  2    +  (          )    

  (          )    

 (          )    
+  (          )    

  (          )    

 (          )    

1)   476  Æ  _______ 2)   515  Æ  _______ 3)   610  Æ  _______ 

6)    1  5  7
+  1  4  2    

7)    2  2  7    
+      3  9    +  (          )    

  (          )    

 (          )    
+  (          )    

  (          )    

 (          )    

8)    4  4  9
+  1  3  7    

9)    2  3  5    
+  1  4  5    +  (          )    

  (          )    

 (          )    
+  (          )    

  (          )    

 (          )    

10)    1  0  9
+  2  0  7    

11)    4  1  6    
+  3  2  9    +  (          )    

  (          )    

 (          )    
+  (          )    

  (          )    

 (          )    

Lesson Practice 11C
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12)   On our trip to Grandmother’s house, Dad drove 263 miles and Mom drove for 
        179 miles.  How far is it to Grandmother’s house?

Systematic Review 11D

Lesson Practice 11C
Round to the nearest hundreds place.

Round to the nearest hundred and estimate the answer.  Then find the exact answer.

4)    2  1  7
+  3  2  4    

5)    2  6  6    
+     1  8    +  (          )    

  (          )    

 (          )    
+  (          )    

  (          )    

 (          )    

1)   450  Æ  _______ 2)   103  Æ  _______ 3)   278  Æ  _______ 

6)    1  3  4
+  3  6  5    

7)    1  1  9    
+  2  0  7    +  (          )    

  (          )    

 (          )    
+  (          )    

  (          )    

 (          )    

8)    5  5  5
+  3  4  8    

9)    8  0  6    
+  1  0  6    +  (          )    

  (          )    

 (          )    
+  (          )    

  (          )    

 (          )    

10)    1  1  9
+  2  1  7    

11)    2  4  8    
+  2  5  2    +  (          )    

  (          )    

 (          )    
+  (          )    

  (          )    

 (          )    
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Systematic Review 11D

6) 5 4  
+  2 8 

7) 5 3 
+   3 7 

8) 1 8 
+   2 9 

Add.  Regroup if needed.  

3)    8  0  6    
+ 1  0  6    

4)    2  4  8    
+ 2  5  2    

5)    3  3  7    
+ 1  7  2    

Systematic Review 11E

Review your subtraction facts.  These problems review subtracting 0, 1, and 2.

9) 1 
-  1 

10) 10 
-  2 

12) 3 
-  0 

11) 8 
-  1 

13) 4 
-  3 

14) 6 
-  2 

16) 8 
-  2 

15) 5 
-  4 

Skip count by two and write the numbers.

17)      ____,  4,  ____,  ____,  10,  ____,  ____,  ____,  ____,  ____ 

18)   Andrew has five dollars and twenty-six cents.  Write that amount with a decimal 
        point and dollar sign.

19)   We traveled 55 miles last week and 78 miles this week.  How many miles did  we 
        travel the last two weeks?

20)   Jim had 145 dollars in his savings.  He got 56 dollars for his birthday.  How 
        much money does Jim have now?

Round to the nearest hundreds place.

1)   755  Æ  _______ 2)   115  Æ  _______ 
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Systematic Review 11E

6) 2 8  
+  3 8 

7) 6 5 
+   3 5 

8) 5 8 
+   4 2 

Add.  Regroup if needed.  

3)    2  3  5    
+ 3  6  5    

4)    3  0  0    
+ 4  0  9    

5)    2  4  9    
+ 1  3  2    

Systematic Review 11F

Review your subtraction facts.  These problems review subtracting 0, 1, and 2.

9) 4 
-  2 

10) 7 
-  2 

12) 11 
-  2 

11) 3 
-  1 

13) 6 
-  5 

14) 8 
-  0 

16) 9 
-  2 

15) 10 
-  9 

Skip count by five and write the numbers.

17)      ____,  ____,  15,  ____,  ____,  ____,  ____,  ____,  ____,  ____ 

18)   A tree grew 17 inches one year and 9 inches the next year.  How much did it 
        grow during those two years?

19)   Captain Cook spotted 138 penguins in the water and 256 on the shore.  How 
        many penguins were spotted by Captain Cook?

20)   Mom has 5 eggs.  Two of the eggs are cracked.  How many are not cracked?  
        (Watch for word problems that review subtraction.)

Round to the nearest hundreds place.

1)   361  Æ  _______ 2)   209  Æ  _______ 
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Systematic Review 11F

6) 9 2  
+     8 

7) 4 8 
+   3 2 

8) 6 3 
+   2 7 

Add.  Regroup if needed.  

3)    4  2  9    
+ 2  6  6    

4)    1  0  1    
+    8  9    

5)    2  3  8    
+ 2  4  3    

Review your subtraction facts.  These review subtracting by 2 and problems with 
a difference of 2.

9) 5 
-  3 

10) 10 
-  2 

12) 6 
-  2 

11) 7 
-  5 

13) 9 
-  7 

14) 8 
-  2 

16) 11 
-  9 

15) 10 
-  8 

Skip count by ten and write the numbers.

17)      ____,  ____,  ____,  40,  ____,  ____,  ____,  ____,  ____,  ____ 

18)   Deb has 21 jellybeans and 48 mints.  Round to the nearest 10 and estimate how 
        many pieces of candy she has.

19)   Pete drove 512 miles one day and 345 the next day.  How far did he drive?
        Estimate first, then solve.

20)   Drew lost 8 pennies.  If he finds 6, how many are still lost?  Write your answer 
        with a decimal point and dollar sign.

Round to the nearest hundreds place.

1)   519  Æ  _______ 2)   682  Æ  _______ 
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Test 11

7) 8  7  
+  2  8 

8) 4  5 
+  4  2 

9) 3  9 
+  1  5 

Add.  Regroup if needed.  

4)    1  3  2    
+ 4  1  8    

5)    6  7  9    
+ 2  7  6    

6)    5  2  0    
+ 1  8  8    

Review your subtraction facts.  

10) 7 
-  2 

11) 5 
-  1 

13) 11 
-  9 

12) 8 
-  0 

14) 5 
-  3 

15) 10 
-  2 

17) 7 
-  5 

16) 6 
-  1 

Skip count by five and write the numbers.

18)      ____,  ____,  ____,  ____,  25,  ____,  ____,  ____,  ____,  ____ 

19)   Cameron had 476 stamps in his collection at the beginning of the year.  Since 
        then he has collected 125 more.  How many stamps does he have now?
        Estimate first, then solve.

20)   Sara is six years old.  How many years is it until she is ten?

Round to the nearest hundreds place.

1)   126  Æ  _______ 2)   314  Æ  _______ 3)   509  Æ  _______ 
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Solutions 11A - 11D
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